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DQ 4.2 Name: Date: Block:

1. Suppose you have two 1-L flasks, one containing N, at STP, the other containing CH, at STP. How do these
systems compare with respect to (a) number of molecules, (b) density, (c) average kinetic energy of the
molecules, (d) rate of effusion through a pinhole leak? Defend your statements.
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2. Chlorine dioxide gas (ClO,) is used as a commercial bleaching agent. It bleaches materials by oxidizing them.
One method of preparing ClO; is by the reaction of chlorine gas and sodium chlorite:
Clx(g) + 2 NaClOy(s) 2 2 ClOxg) + 2 NaCl(s)

If excess NaClO; is allowed to react with 2.00 L chlorine gas at a pressure of 1.50 atm at 21°C, how many grams
of ClO; can be prepared?
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